PREVOST

Instruction Sheet 1IS-05010

REPLACEMENT OF POWER WINDOW MOTOR

NOTE

This instruction sheet is applicable for replacement of power window motor #790337.

MATERIAL

H3-41, H3-45 & VIP series vehicles. Kit #293872 includes the following parts:
Part No. Description Qty
293855 Motor & support, assembly 1
293902 Support, driver's window 1
5001633 Machine screw, flat Phillips head ZP M6-1x12 @b“m 2
500440 Washer, flat ZP .250x.562x.065 @ 2
502570 Washer, split lock SS 6.1x11.8x1.6 @ 2
506322 Butyl, strip 0.045" X 1.0" X 13.0" long 1
563623 Butt splice, 16-14 =1 5
563664 Connecting harness extension 1
685072 Loctite 243, Sml 1
955269 Cap screw, hex. head M6-1x12 B:- 2
1S-05010 Instruction sheet 1
F1-05010 Feuille d'instructions 1

IS-05010 / Page 1/10
Formulaire QF2150959
Rev:2



XLII series vehicles. Kit #293874 (driver's power window) includes the following parts:

Part No. Description Qty
500356 Washer, split lock 6.1X16X0.9 @ 1
500541 Machine screw, flat Phillips head SS 1/4-20x1/2 @m 8
500877 Washer, flat ZP .250x.562x.065 © 4
500923 Screw, thread cutting hex. head ZP 1/4-20x3/4 [ 1
504273 Nylon locking tie 142mm 3
562679 Self adhesive locking tie mount @ 3
563623 Butt splice, 16-14 =1 5
563664 Connecting harness extension 1
685072 Loctite 243, Sml 1
790500 Motor & actuator, assembly 1
955271 Cap screw, hex. head M6x16 B:- 2
5001182 Locknut, nylon insert M6-1 ® 2
5001633 Machine screw, flat Phillips head ZP M6-1x12 @bmm 2
I1S-05010 Instruction sheet 1
FI1-05010 Feuille d'instructions 1
NOTE
In addition to this kit, you must obtain the following parts as the case may be:

XLII-45 coaches:.............ccceuuu. #293852 trapezoidal support (1X) et #293856 motor support (1X)

XLI-40, XLII-45 MTH: ................ #293852 trapezoidal support (1X) et #293850 motor support (1X)

XLII-45 Entertainer:......... ......... #293857 trapezoidal support (1X) et #293850 motor support (1X)

IS-05010 / Page 2/10



XLII series vehicles. Kit #293873 (entrance door power window) includes the following parts:

HET L Description Qty
293845 Trapezoidal support attachment bracket 1
293848 Motor support 1
293907 Reinforcement part, aluminum 2
500541 Machine screw, flat Phillips head SS 1/4-20x1/2 @“m 8
502570 Washer, split lock SS 6.1x11.8x1.6 @ 2
504105 Rivet, pop = 4
504273 Nylon locking tie 142mm 1
562679 Self adhesive locking tie mount @ 1
563623 Butt splice, 16-14 == 5
563664 Connecting harness extension 1
685072 Loctite 243, 5ml 1
790500 Motor & actuator, assembly 1
5001181 Cap screw, hex. head SS M6x12 - 2
5001633 Machine screw, flat Phillips head ZP M6-1x12 @hﬁm 4
1S-05010 Instruction sheet 1
F1-05010 Feuille d'instructions 1

NOTE
In addition to this kit, you must obtain the following parts as the case may be:
XLI-40, XLI-45 MTH: ..., #293849 trapezoidal support (1X)
XLII-45 Entertainer:.............cccocevveiiinniinnn on. #293861 trapezoidal support (1X)

IS-05010 / Page 3/10




PROCEDURE - H3 & VIP SERIE VEHICLES

/A WARNING A\

OFF position prior to working on the vehicle.

Park vehicle safely, apply parking brake, stop engine and set battery master switch(es) to the

1. If not already done, raise the driver's power window.

Set the battery master switch to the OFF position.

panel and left interior trim.

To permit removal of the existing mechanism and installation of the new one, the window must be
held in upper position. To do so, use duct tape to hold it in place.

4. In order to gain access to the power window mechanism, dismount the driver's area lateral control

5. Disconnect the existing power window motor.

Remove the existing power win-
dow mechanism. Follow steps of
figure 1.

Note: keep hardware for later use, as
indicated.

Note: keep in place the parts
glued to window

1) unbolt and remove the
window support

hardware for | |

2)unbolt and remove, ~ Noterkeep -
\ later use

o 124

N £ 1 |

_ ; [

. H

2, A/ P» - ® it

o~ TR . N\ |
T o _

- |

i

@ o7 \ 4

3)unboltand remove o (s
the motor and support | © \ L
assembly B S

FIGURE 1

7. ltis necessary to extend the power
window harness. To do so, cut
connector C322 at the end of the
yellow wires (circuits 26) and
remove 4" of insulating sheath.

8. Extend the vehicle harness using
connecting harness extension
#563664 and butt splices #563623
included in kit (see figure 2). Heat
the shrinkable ends of the butt
splices.

Yellow wire, circuit:
26A H3 multiplex
26B H3 non multiplex
26B XLl driver’s power window
26D XLl entrance door power window
Brown wire

J «)I HJ/A” typ.
E \ Butt splice #563623 f %ﬂ
Red wire with

Yellow wire, circuit: white stripe
26B H3 multiplex

26C  H3 non muliiplex

26C XLl driver’s power window

26E XLl entrance door power window

FIGURE 2

IS-05010 / Page 4/10




; _ apply a strip of butyl on this surface. T
9. Apply 2 strips of butyl on the plas See detail view, T ote
tic panel of the motor and support i
assembly as per figure 3.
detail
apply a strip of
butyl on this face
FIGURE 3
10. Position  motor and  support 1) install the motor and support
assembly. Follow steps 1 & 2 of assembly using recovered
figure 4. hardware
2) drill a third fixing hole in the
square tube, diameter: 7/32”.
Use the support as a guide.
Use the same hardware as
the 2 other holes.
FIGURE 4
. 1) Install window support #293902
11. Follow the steps of figure 5. To onto window. Use 2 screws #5001633
carry QUt step 3_, you may hav.e. to and a drop of Loctite on threads.
energize motor in order to position
the actuator so it can be fixed to
window support. Be particularly 3) Fix actuator onto windowsupport.
careful not to pull on the actuator. Use 2 flat washers #500440, 2 split
Only move the actuator using the lock washers #502570 and 2 screws
motor. Momentarily connect the #955269
motor and set the battery master
switch to the ON position.
2) Connect power
supply harness to
motor.
FIGURE 5
12. Connect the motor and test the functioning of the new mechanism.
13. Secure the connecting harness with nylon locking ties.
14. Reinstall the driver's area lateral control panel and interior trim.

IS-05010 / Page 5/10




PROCEDURE - XLIl SERIES VEHICLES, DRIVER'S POWER WINDOW

/A WARNING A\

Park vehicle safely, apply parking brake, stop engine and set battery master switch(es) to the

OFF position prior to working on the vehicle.

1. If not already done, raise the driver's power window.

Set the battery master switch to the OFF position.

To permit removal of the existing mechanism and installation of the new one, the window must be

held in upper position. To do so, use duct tape to hold it in place.

4. In order to gain access to the power window mechanism, open the front electrical compartment

service door and remove the interior finishing panel.

Disconnect the existing power window motor.

6. Remove the existing power win-
dow mechanism. Follow steps of
figure 6.

Note: window must be
raised and held in place
with duct tape.

keep in place the parts —|]
glued to the window

1) unbolt and remove dl
the window support

2) unbolt and remove
the motor/support
assembly

FIGURE 6

7. ltis necessary to extend the power
window harness. To do so, cut
connector at the end of the yellow
wires (circuits 26) and remove 4"
of insulating sheath.

8. Extend the vehicle harness using
connecting harness extension
#563664 and butt splices #563623
included in kit (see figure 7). Heat
the shrinkable ends of the butt
splices.

Yellow wire, circuit:

26A H3 multiplex

26B H3 non multiplex

26B XLl driver’s power window

26D XLl entrance door power window

J «)I I‘»]M” typ.

Brown wire

j S— ]
i \ Butt splice #563623

Yellow wire, circuit:

26B H3 multiplex

26C H3 non multiplex

26C  XLII driver’s power window

26E XLl entrance door power window

FIGURE 7

7.(%@

Red wire with
white stripe

IS-05010 / Page 6/10




9. Assemble motor, support and
trapezoidal support. Follow steps 1
up to 3 of figure 8.

3) fix trapezoidal support on actuator.
Use the following hardware:
2 screws #935271
2 flat washers #500877
2 locknuts #5001182

2) fix actuator guide onto support.
Use 4 screws #500541 and a
drop of Loctite on threads

~=—1) install motor on support. Use 4
screws #500541 and a drop of
Loctite on threads.

FIGURE 8

10. Install assembly as per steps of
figure 9.

To carry out step 4, you may have to
energize motor in order to position the
trapezoidal support so it can be fixed
to window. Be particularly careful not
to pull on the actuator. Only move the
actuator using the motor. Momentarily
connect the motor and set the battery
master switch to the ON position.

4) fix trapezoidal support to window.
Use 2 screws #5001363 and a drop of
Loctite on threads

3) place a self adhesive nylon locking
tie mount#562679 and using a nylon
locking tie, attach the flexible section
of the actuator guide. Connect the
power supply harness to motor

1) position assembly and fix
with 2 locknuts recovered
from the former installation and 2
flat washers #500877

2) using the support as a guide, drill one
7/32” diameter hole and fix support using
one self tapping screw #500923 and a
split lock washer #500356

FIGURE 9

11. Connect the motor and test the
functioning of the new mechanism.

12. Secure the connecting harness
with nylon locking ties.

13. Reinstall the service door interior
finishing panel.

<> Fix power supply harness with
self adhesive locking tie mounts
#562679 and nylon locking ties
#504273

FIGURE 10

IS-05010 / Page 7/10




PROCEDURE - XLIl SERIES VEHICLES, ENTRANCE DOOR POWER WINDOW

/A WARNING A\

Park vehicle safely, apply parking brake, stop engine and set battery master switch(es) to the
OFF position prior to working on the vehicle.

interior finishing panel.

1. If not already done, raise the driver's power window.

Set the battery master switch to the OFF position.

Disconnect the existing power window motor.

To permit removal of the existing mechanism and installation of the new one, the window must be
held in upper position. To do so, use duct tape to hold it in place.

4. In order to gain access to the power window mechanism, open the entrance door and remove the

Remove the existing power win-
dow mechanism. Follow steps of
figure 11.

‘\}\ﬁt )

~

1) remove the interior finishing panel

Note: window must be raised and held

in place with duct tape

2) remove the door locking mechanism.
i]°we Dismount where indicated by the
[ 4 arrows

unbolt and remove the window
support

unbolt and remove existing motor
and actuator mechanism. Keep
hardware for later use.

FIGURE 11

7. ltis necessary to extend the power
window harness. To do so, cut
connector at the end of the yellow
wires (circuits 26) and remove V4"
of insulating sheath.

8. Extend the vehicle harness using
connecting harness extension
#563664 and butt splices #563623
included in kit (see figure 12). Heat
the shrinkable ends of the butt
splices.

Yellow wire, circuit:

26A  H3 multiplex

26B H3 non multiplex

26B XLl driver’s power window

26D XLl entrance door power window

J | €14 typ.
N —— |
\ Butt splice #563623

Brown wire

Yellow wire, circuit:

26B H3 multiplex

26C  H3 non multiplex

26C XLl driver’s power window
26E

7.(%@

Red wire with
white stripe

XLIl entrance door power window

FIGURE 12

IS-05010 / Page 8/10




9. Assemble trapezoidal support.
Follow steps of figure 13.
\/ —1) Drill 4 holes of 1/8" diameter
7 2) Using pop rivets, fix the
reinforcement parts
3) Install part #293845. Use 2
screws #5001633 and a drop
of Loctite on threads.
FIGURE 13
10. Assemble motor, support and

trapezoidal support. Follow steps 1
up to 3 of figure 14.

3) fix trapezoidal support to actuator

Use the following hardware :
2 screws #5001181

2 split lock washers #502570

2) fix actuator guide onto support.
Use 4 screws #500541 and a
drop of Loctite on threads

—=—1) install motor on support.
Use 4 screws #500541
and a drop of Loctite
on threads

11. Install the assembly as per figure
15.

To carry out step 2, you may have to
energize motor in order to position the
trapezoidal support so it can be fixed
to window. Be particularly careful not
to pull on the actuator. Only move the
actuator using the motor. Momentarily
connect the motor and set the battery
master switch to the ON position.

2) fix trapezoidal support to window.
Use screws #5001633 and a drop of
Loctite on threads

3) secure the flexible section of the
actuator guide using a self adhesive
locking tie mount #562679 and a
nylon locking tie

\

1) position the assembly and fix using
3 screws and flat washers
recovered from the previous installation

FIGURE 15

IS-05010 / Page 9/10



12.

13.

14.

15.

Reinstall the door locking
mechanism.  Bolt  mechanism
where indicated by arrows.

Connect the motor and test the
functioning of the new mechanism.

Secure the connecting harness
with nylon locking ties.

Reinstall the interior finishing
panel.

FIGURE 16

1S-05010 / Page 10/10





<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /FRA <>
    /ENU (Use these settings to create PDF documents with higher image resolution for improved printing quality. The PDF documents can be opened with Acrobat and Reader 5.0 and later.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308000200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e30593002537052376642306e753b8cea3092670059279650306b4fdd306430533068304c3067304d307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e30593002>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [595.000 842.000]
>> setpagedevice


